LAW SCHOOL COUNCIL RSO Funding Allocation Report

Meeting Date: September 14, 2022

Meeting Time: 7:00 pm

Meeting Location: Zoom

LSC Members Present: Samantha Seigile, Emma Wells, Cristen Chandler, Sarai Glaze, Cara Campbell, Leila Oberschall, Briana Bedoya, Keeley Smith, Allison Nelson

Name of RSO	Event Information (Date, Location) Just the EVENT name	Food	Clothing/ Apparel	Contractual services	Travel	Expenses (i.e. Decorations, meeting space)	Total
Association for Criminal Justice	ACJ Public Defender Panel 10/06/2022 at 12:30 - 1:30 pm Roberts Hall Room 310 On Campus	\$260.54					\$260.54
Black Law Students Association	Social justice Panel Series: Hb 7	\$240.25					\$240.25

	10/12/2022 at 12:30 - 1:30 pm Roberts Hall Room 208 On Campus				
Black Law Students Association	Coffee and Donuts 10/02/2022 at 10 am - 2 pm FSU Law Research Center On Campus	\$84.43			\$84.43
Black Law Students Association	Getting into Law School Panel 10/12/2022 at 6 pm - 7 pm Advocacy Center Room A101 On Campus	\$240.25			\$240.25
Black Law Students	Halfway there!	\$210.63			\$210.63

Association	10/05/2022 at 10 am - 12 pm First floor of main building (Roberts Hall) On Campus				
Black Law Students Association	BLSA Induction Ceremony 10/25/2022 at 6:30 pm -8:30 pm FSU Law Rotunda On Campus	\$909.60			\$909.60
Cuban American Bar Association	Cuban Independence Day 10/10/2022, multi-day event College of Law (Roberts Hall) On Campus	\$379.45		\$90.91	\$470.45

Environment- al Law Society	ELS Fall Meeting 10/13/2022 at 12:30 pm Main Classroom Building (Roberts Hall) On Campus	\$85.80			\$85.80
Health Law Society	General Body Meeting 09/29/2022 at 12:30 pm Room 310 Roberts Hall On Campus	\$130.75			\$130.75
Moot Court Team	Two Weeks with the Team: Moot is not Moot Alumni Panel and Fall Showcase 10/19/2022 and 10/25/2022 at	\$794.93			\$794.93

	12:30 pm - 1:30 pm Room 101 Roberts Hall On Campus				
Public Interest Law Students Association	PILSA Speaker Event - Implicit biases/trauma informed lawyering 10/11/2022 at 12:15 pm - 1:15 pm FSU College of Law Roberts Hall On Campus	\$42.99			\$42.99
Real Property Probate and Trust Law Society	RPPTL General Body and Information Meeting 09/20/2022 at 12:00 pm - 1:00 pm	\$102.97			\$102.97

	Room 308 Roberts Hall On Campus				
Real Property Probate and Trust Law Society	Real Property Probate and Trust Law Society General Body and Info Meeting 10/04/2022 at 12:00 pm - 1:00 pm Room 308 Roberts Hall On Campus	\$128.70		\$33.49	\$162.19
Student Bar Association	Tailgating on the Green: FSU vs. Boston College 09/24/2022 at 2:30 pm - 4:30 pm FSU Law Green On Campus	\$1,200			\$1,200

Student Bar Association	2nd Annual Civic Engagement Fair 10/06/2022 at 12:30 pm - 1:30 pm FSU Law Rotunda & R106 On Campus	\$1,173		\$129.87	\$1,302.87
Student Bar Association	2L Board Game Night 10/13/2022 at 6:00 pm - 9:00 pm FSU Law Rotunda On Campus	\$311		\$103.68	\$414.68
Student Bar Association	First Generation Series Panel 10/13/2022 at 12:30 pm - 1:30 pm	\$371			\$371

	Room 208 On Campus				
Student Bar Association	Tailgating on the Green: FSU vs. Clemson 10/15/2022 at 2:20 pm 4:20	\$1,000			\$1,000
	2:30 pm - 4:30 pm				
	FSU Law Green On Campus				
Student Bar Association	Barrister's Bowl	\$335.40		\$59.68	\$395.08
	10/18/2022 at 6:00 pm - 7:30 pm				
	FSU Law Green On Campus				
Student Bar Association	Graduate Policy Committee: Student Feedback Meeting	\$667			\$667

	10/24/2022 at 12:30 pm - 1:30 pm Room 101 Roberts Hall On Campus				
Student Bar Association	Tailgating on the Green: FSU vs. Georgia Tech 10/29/2022 at 2:30 pm - 4:30 pm FSU Law Green On Campus	\$1,000			\$1,000
Student Veterans Law Symposium	Battle of the Branches 10/04/2022 at 12:30 pm - 1:30 pm Room 103 Roberts Hall On Campus	\$207.38			\$207.38

Trial Team of the College of Law	Bagels and Brains 10/27/2022 at 10:00 am - 12:00 pm Roberts Hall Table On Campus	\$340.86			\$340.86
Transfer Student Organization	TSO General Meeting 10/04/2022 at 12:30 pm - 1:30 pm Room 241 Roberts Hall On Campus	\$280			\$280
Total					\$10,914.65

Meeting Minutes

Organization: ACJ

Date/time of event: October 6, 2022 at 12:30 - 1:30 pm Amount requested: \$260.54 Location: Roberts Hall (On Campus)

Chick-fil-a - Large Hot Chick-fil-A Nuggets Tray (\$96) - Cobb Salad w/ No Chicken (10 at \$6.75 a piece) (\$67.50) - Medium Hot Chick-fil-A Nuggets Tray \$58

```
Publix
```

- Sweet Iced Tea (3 at \$3.87 a piece) (\$11.61)

- Unsweetened Tea (2 at \$3.87 a piece) (\$7.74)

-Old Fashioned Lemonade (3 at \$3.87 a piece) (\$11.61)

Purpose of funds: ACJ Public Defender Panel

During the event, multiple state public defenders will be answering questions and speaking about their job. The panel will be open to questions from all students and faculty members. The panel will be moderated by the organization's executive board members and will highlight the duties and responsibilities of a public defender. Our event will also showcase the differences between working as a public v. private defense attorney. It is intended to be career-oriented event which will allow students to make connections in our state's criminal law field. It will be during the lunch break and we hope to provide food for interested students.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Date/time of event: October 12, 2022 at 12:30 - 1:30 pm Amount requested: \$240.25 Location: Roberts Hall (On Campus)

Chick-fil-A - Gallon Freshly-Brewed Iced Tea Sweetened (\$6.25) - Gallon Lemonade (\$12) - Large Hot Chick-fil-A Nuggets Tray (\$96) - Medium Hot Chick-fil-a Nuggets Tray (\$58) - Large Garden Salad Tray (2 at \$34 a piece) (\$68)

Purpose of funds: Social Justice Panel Series: Hb 7

The goal of this panel series is to discuss the ramifications of Florida House Bill 7, which has now been approved by Governor Ron DeSantis and limits state schools' abilities to educate Florida students on imperative topics such as African American history. We intend to go in detail to inform attendees of how this law affects students k-12 and students on a collegiate level. We will have panelists who are experts on the topic and can discuss what the Bill is and what it isn't. Attendees can also enjoy free food and non-alcoholic beverages at this event.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	N/A	Yay	Yay	Yay	Yay	Yay

Date/time of event: October 2, 2022 at 10 am - 2 pm **Amount requested:** \$84.43 **Location:** FSU Law Research Center (on campus)

Publix
-Planet Oat Caramel Coffee Creamer (\$2.77)
-Silk Sweet & Creamy Almond Creamer (\$6.19)
-Torani Sugar Free Vanilla Syrup (\$4.41)
-Torani Sugar Free classic Caramel Syrup (\$4.41)
-In the Raw Sweetener, Zero Calorie (2 at \$3.49 a piece) (\$6.97)
-Starbucks Iced Coffee Unsweetened Premium Coffee Blend (2 at \$6.41 a piece) (\$12.82)
-Stok Cold Brew Coffee, Black Unsweetened (2 at \$6.27 a piece) (\$12.54)
-La Colombe Coffee Drink, Real, Cold Brew, Medium/Dark Roast (2 at \$3.32 a piece) (\$6.63)
-Starbucks Pike Place Roast medium Roast K-cup Coffee (\$27.69)
-Planet Oat Caramel Coffee Creamer (\$2.77)

Purpose of funds: Coffee and Donuts

Florida State University College of Law students may enjoy free coffee and doughnuts as they study at the FSU Law Research Center. In addition, first-year law students can receive study and/or exam tips or assistance from volunteer second-year or third-year students. Study rooms in the research center will be booked so students can have group or one-on-one study time either among themselves or with the volunteer tutors. The primary goal of this event is to encourage weekend studying and general mentorship.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	N/A	Yay	Yay	Yay	Yay	Yay

Date/time of event: October 12, 2022 at 6 - 7:30 pm Amount requested: \$240.25 Location: Law School Advocacy Center (on campus)

Chick-fil-A -Gallon Freshly-Brewed Iced Tea Sweetened (\$6.25) - Gallon Lemonade (\$12) -Large Hot Chick-fil-A Nuggets Tray (\$96) -Medium Hot Chick-fil-a Nuggets Tray (\$58) -Large Garden Salad Tray (2 at \$34 a piece) (\$68)

Purpose of funds: Getting into Law School Panel

The Delores Poindexter Auzenne Chapter of the Black Law Students Association would like to invite undergraduate students from various pre-law organizations to this informative panel discussion. This panel will cover the topic of "getting into law school" and will discuss the following matters: law school applications, choosing a law school that is best for you, LSAT courses, LSAT study tips, etc. Although this event is geared toward pre-law students, we would like other FSU law students to attend to connect with the pre-law students for potential future mentorship opportunities.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	
Vote	Yay	Yay	Yay	N/A	Yay	Yay	Yay	Yay	Yay

VOTE: YES

Date/time of event: October 5, 2022 at 10 am - 12 pm Amount requested: \$210.63 Location: Roberts Hall First Floor (On Campus)

Publix -100% Colombian Dark Roast Coffee Tote (2 at \$19.99 a piece) (\$39.98) -Hot Chocolate Tote (\$21.49) -Bagels & Pastries (\$149.16)

Purpose of funds: Halfway There!

This will be a tabling event that promotes membership to and involvement with the Black Law Students Association as we students reach the halfway point of this fall semester. This event will be accompanied by breakfast foods and coffee. In addition, there will also be open discussion with BLSA members about upcoming events and future involvement. The table will be set up on the first floor of FSU Law's main building near one of the entrances. All law students, whether they are members of the Black community or not, are welcome to participate.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	N/A	Yay	Yay	Yay	Yay	Yay

VOTE: YES

Date/time of event: October 25, 2022 at 6:30 - 8:30 pm Amount requested: \$909.60 Location: FSU Law Rotunda (on campus)

-Asiago Chicken in a Roasted Red Pepper Sauce (20 at \$19.49 a piece) (\$389.80) -Quinoa Cake topped with Tomato Chutney (10 at \$12.99 a piece) (\$189.90) -Beef Tenderloin (10 at \$32.99 a piece) (\$329.90)

Purpose of funds: BLSA Induction Ceremony

This event serves to celebrate the new members of the Delores Poindexter Auzenne Chapter of the Black Law Students Association. During this event, attendees can enjoy free food and non-alcoholic beverages, encouraging words from an extinguished guest speaker, and the presentation of new BLSA members. Although this induction ceremony is geared toward BLSA members, BLSA will invite FSU Law faculty and administrators of various races and ethnicities to join our celebration. The Food will be catered by the school's catering service, Legacy Catering.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	N/A	Yay	Yay	Yay	Yay	Yay

VOTE: YES

Date/time of event: October 10, 2022, multi-event day Amount requested: \$470.45 91- expense 379.45- food Location: Roberts Hall (on campus)

Gordo's (\$127.50) -Croquetas (100 at \$1 a piece) (\$100) -Colada (10 at \$2.75 a piece) (\$27.50)

Publix (\$251.95) -Deli Cubanitos Platter (2 at \$43.99 a piece) (\$87.98) -Popcorn Chicken Platter (2 at \$54.99) (\$109.98) -Veggie Wrap Platter (\$53.99)

Amazon -Cuban String Flags (4 at \$11.99 a piece) (\$47.96) -Removable Stickers (3 at \$6.99 a piece) (\$20.97) -Paper Streamers (2 at \$10.99 a piece) (\$21.98)

Purpose of funds: Cuban Independence Day

This event is focused on providing an educational understanding of the history behind Cuban Independence and will involve a multievent day full of opportunities for students to learn. The day will start with cubanito sandwiches and tabling in the morning to answer questions and hand out stickers to students that are interested in learning more about Cuban independence and the history of the island nation. This will be followed by a lunch time session that will involve a speaker series with highly recognized Cuban Americans in the legal community to discuss the Cuban legal system and how it differs from the American legal system and what it looked like in the earlier years of its independence versus after the 1959 revolution. Finally, the event will be bookend by a social night event with dancing and a gathering to simply celebrate an important day in Cuban American's lives.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Organization: Environmental Law Society

Date/time of event: October 5, 2022 Amount requested: \$85.80 Location: Roberts Hall (on campus)

Momo's Pizza -30" Pizza (\$25.95) -Large Pepperoni Pizza (2 at \$20.95 a piece) (\$41.90) -Medium Vegan Pizza (\$17.95)

Purpose of funds: ELS fall meeting

The environmental law society will be discussing upcoming events at the law school and introducing our mentorship program. Upcoming events to be discussed include our upcoming picnic with SBA, possible events with Animal Legal Defense Fund, our mentorship mixer, and career panel for public interest environmental law. We will also discuss our merch ideas, and put out requests for 1L representatives. Pizza will be served and we will ask for ideas on future meeting as well, discuss a potential camping trip, and gauge interest for other events from the attendees.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Organization: Health law Society

Date/time of event: September 29, 2022 at 12:30 pm Amount requested: \$130.75 Location: Roberts Hall (on campus)

Chick-fil-A -Large Hot Chick-fil-A Nuggets Tray (\$96) -Grilled Market Salad w/ No Chicken (5 at \$6.95 a piece) (\$34.75)

Purpose of funds: Health Law Society General Body meeting

The Health Law Society will be hosting a general body meeting. We will be discussing what the Health Law Society is about and answering questions that pertain to future events and membership. We want to allow students to give us input into what type of events they would like us to host in the future. Students will able to learn the different opportunities that are being offered by the Health Law Society. Students will be able to discuss questions they have about the organization and be able to find out about membership. Students will get to listen to a guest speaker discuss the different opportunities available in Health Law

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Organization: Moot Court Team at FSU College of Law

Date/time of event: October 19 and 25, 2022 at 12:30 - 1:30 pm Amount requested: \$794.93 Location: Roberts Hall (on campus)

Publix (\$282.93)
Bakery Cookie Platter Medium (2 at \$22.99 a piece) (\$45.98)
Sub Selections, Small (\$32.99)
Sub Selections, Large (2 at \$62.99) (\$125.98)
Breakfast Platter Large (2 at \$38.99 a piece) (\$77.98)

Chick-fil-A (\$512) -Large Hot Chick-fil-A Nuggets Tray (4 at \$96 a piece) (\$386) -Catering Coffee (2 at \$63 a piece) (\$126)

Purpose of funds: Two Weeks with the Team: Moot is Not Moot Alumni Panel and Fall Showcase

Two Weeks with the Team is a recruiting event put forth each year by the Moot Court Team that is open to all law students. This event, during the first week, consists of an alumni panel, where four to five alumni will provide insight into the practical applicability of skills learned through participation with Moot Court. During the second week, the team hosts a fall showcase where students can attend to listen to team members perform an oral argument. The team hopes to provide food from Publix and Chick Fil A at these events. On the day of these events, the team will be tabling in the first floor of Roberts Hall with coffee and breakfast pastries in an effort to boost attendance and promote the events later that day.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	N/A	Yay	Yay	Yay	Yay	Yay	Yay

VOTE: YES

Notes: Cristen is on executive board for Moot Court, so abstains

Date/time of event: October 11, 2022 Amount requested: \$42.99 Location: Roberts Hall (on campus)

Publix -Sub Selections, Medium (\$42.99)

Purpose of funds: PILSA Speaker Event- Implicit biases/trauma informed lawyering

This event will feature a panel of FSU Law faculty presenting information on implicit biases in the law and traumainformed lawyering. This event will involve a similar presentation to that presented at the Public Interest Law Center clinics. This event will help students obtain a deeper understanding of their own trauma, as well as how their trauma and that of their potential clients interact and impact the lawyer-client relationship. We are looking into partnering with other law school organizations, as we believe this event may benefit all students, not just those interested in public interest work.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Organization: Real property Probate and Trust Law Society

Date/time of event: September 20, 2022 12:00 - 1:00 pm Amount requested: \$105 Location: Roberts Hall (on campus)

Publix -Sub Selections, Medium (2 at \$42.99 a piece) (\$85.98) -Gourmet Cookies Bite Platter (\$16.99)

Purpose of funds: RPPTL General Body and Information Meeting

This is the first general body and information meeting for the 2022-23 school year. The purpose of this event is to introduce this year's executive committee, announce the for 1Ls and 3Ls to be elected as representatives, and provide an overview of real property, probate, and trust law so that we can acquire members and promote an interest in these areas of law. We will also review the organization's constitution and possibly vote on amendments. In addition, we plan on asking for feedback from attendees on what topics they would like to hear guest speakers present. This organization held one event last year that was off campus. We are hoping to have more of a presence on campus this year.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Organization: Real Property Probate and Trust Law Society

Date/time of event: October 4, 2022 at 12:00 - 1:00 pm Amount requested: \$164.54 Location: Roberts Hall (on campus)

Chick-fil-A -Chick-fil-A Chicken Sandwich (30 at \$4.29 a piece) (\$128.70)

Amazon -Napkins (\$12.50) -Compostable Plates (\$20.99)

Purpose of funds: GENERAL BODY & INFO MEETING

For students interested in real property, probate, or trust law or that want to learn more. We will introduce our new exec board and an overview of our organization, as well as announce upcoming events. We will also be providing information on 1L and 3L representative elections.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Date/time of event: September 24, 2022 at 2:30 - 4:30 pm **Amount requested:** \$1,200 **Location:** FSU Law Green (on campus)

Pineappetit -Chicken Salmon Mac and Cheese Salad (150 at \$8 a piece) (\$1,200)

Purpose of funds: Tailgating on the Green: FSU vs. Boston College

We all know how much stress and pressure law school puts on a person every week. So, why not alleviate that stress with some chill vibes and happy times. Tailgating on the Green will provide the law school with a much-needed break from all the hustle and bustle that goes into the grind each day. With a cold beverage in hand and some delicious food on deck, sharing stories with some of your closest pals, nothing could be better. We will have games, prizes, and a bunch of fun for all to relax, revive, and release any built-up tension.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Date/time of event: October 6, 2022 at 12:30 - 1:30 pm Amount requested: 1,302.87 Location: FSU Law Rotunda (on campus)

Chick-fil-A (\$1,173) -Large hot Chick-n-Strips Tray (6 at \$96 a piece) (\$576) -Large Mac & Cheese Tray (4 at \$67.50) (\$270) -Large Chocolate Chunk Cookie and Chocolate Fudge Brownie Tray (4 at \$30 a piece) (\$120) -Large Fruit Tray (2 at \$62.50 a piece) (\$125) -Large Kale Crunch Side Tray (2 at \$41 a piece) (\$82)

Amazon -Mini Notebooks (3 at \$38.99 a piece) (\$116.97) -Name tags (3 at \$4.30 a piece) (\$12.90)

Purpose of funds: 2nd Annual Civic Engagement Fair

The Florida State University's Student Bar Association (SBA) in collaboration with a variety of other student organizations, will hold the 2nd Annual Civic Engagement Fair, which will take place on October 6th, 2022, from 12:30 - 1:30 pm in the Rotunda & R106. This event will introduce professional associations and legal organizations like the Administrative Law Section of the Florida Bar & the City of Tallahassee's Office of Diversity & Inclusion, to law students that are interested in networking and getting more involved in their local community.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Notes: Stickers were not an approved cost. Moe's request was not approved.

Date/time of event: October 13, 2022 at 6 - 9 pm Amount requested: \$414.68 Location: FSU Law Rotunda (on campus)

Momo's Pizza -30" Garden Speciality (\$43) -30" Meaty Momo Speciality (3 at \$43 a piece) (\$129) -30" Red Base and Pepperoni (2 at \$37.50) (\$75) -30" Red Base (2 at \$32 a piece) (\$64)

Amazon -Candy Land (\$11.99) -Battleship (2 at \$16.84 a piece) (\$33.68) -Trivial Pursuit (\$21.99) -Monopoly (\$16.34) -Connect 4 (2 at \$9.84 a piece) (\$19.68)

Purpose of funds: 2L Board Game Night

The 2L game night is a time where our classmates can connect (four, hahaha get it?!) over a board game or two, enjoy some pizza, and relax. As 2L representatives, Tah'jai and I really want to make sure we preserve the class spirit that we had last year as 1Ls. Events like the section showdown and end of the year dinner at Madison Social really left their mark as a fun time for the class of 2024 and this game night will serve as our first step in preserving this connection we have forged over the last year or so. It can be really easy to find yourself alone at the school and it is our hope that small events like this will draw in students because it will not take a whole lot of time away from readings, but still provide a nice break to the class of 2024.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Date/time of event: October 13, 2022 at 12:30 - 1:30 pm Amount requested: \$371 Location: Roberts Hall (on campus)

Purpose of funds: First Generation Series Panel

Are you a first generation, non-traditional, or diverse law student? Or perhaps just a law student looking for meaningful guidance? Your upperclassmen peers are here to help! Instead of re-inventing the wheel, learn best practices from the 2Ls and 3Ls who have been there and done that. The Student Bar Association has selected several student leaders who are ready to share their candid insights with you via panel discussion. The third panel of the year will feature advice on advocacy teams, journals, & grades/class rank!

Jimmy John's -Party box (3 at \$65 a piece) (\$195) -BBQ Jimmy Chips (20 at \$1.65 a piece) (\$33) -Chocolate Chip Cookie (40 at \$2 a piece) (\$80) -Pickle (20 at \$1.50 a piece) (\$30) -Salt & vinegar Jimmy Chips (20 at \$1.65 a piece) (\$33)

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Date/time of event: October 15, 2022 at 2:30 - 4:30 pm Amount requested: \$2,791.09 Location: FSU Law Green (on campus)

Pineappetit -Salmon Chicken Salad Mac n cheese (125 at \$8 a piece) (\$1,000)

Purpose of funds: Tailgating on the Green: FSU vs. Clemson

We all know how much stress and pressure law school puts on a person every week. So, why not alleviate that stress with some chill vibes and happy times. Tailgating on the Green will provide the law school with a much-needed break from all the hustle and bustle that goes into the grind each day. With a cold beverage in hand and some delicious food on deck, sharing stories with some of your closest pals, nothing could be better. We will have games, prizes, and a bunch of fun for all to relax, revive, and release any built-up tension.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Date/time of event: October 18, 2022 at 6 - 7:30 pm Amount requested: \$395.08 Location: FSU Law Green (on campus)

Momo's Pizza -30" Pizza (6 at \$25.95 a piece) (\$155.70) -30" Pepperoni Pizza (6 at \$29.95 a piece) (\$179.70)

Publix (\$69.22) -Gatorade Fruit Punch (2 at \$8.53 a piece) (\$17.06) -Gatorade Orange (2 at \$8.53 a piece) (\$17.06) -Capri Sun (2 at \$4.25 a piece) (\$8.50) -Gatorade Cool Blue (2 at \$8.53 a piece) (\$17.06)

Purpose of funds: Barrister's Bowl

Barrister's Bowl, also known as the Powderpuff game, is a fun tradition that showcases school spirit. The UF and FSU alums have a friendly rivalry on campus and this event is a fun outlet for those students to express this in a constructive way. Team membership is not limited to those who attended FSU and UF, but those are the mascots for our teams because The Liti-Gators and SBA often work together on this event. This is another example of what I like to call "lightnetworking" at the law school as students are interacting with each other across sections, grades, and degree paths. This event will provide pizza and drinks for all attendees and will be promoted through all forms of media: student announcements, Instagram (@FSUSBA) and the various class groupmes. This is a traditional event at the law school and brings together the fun student community that was a large factor in many people's decisions in choosing FSU law.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Date/time of event: October 24, 2022 at 12:30 - 1:30 pm Amount requested: \$667 Location: Roberts Hall (on campus)

Moe's -Taco Bar Bundle with Chicken (34 at \$13 a piece) (\$442) -Taco bar bundle with Tofu (15 at \$13 a piece) (\$195) -Delivery Fee (\$30)

Purpose of funds: Graduate Policy Committee: Student Feedback Meeting

The Graduate Policy Committee shall consider university-wide policies relating to graduate education. Members of this Committee shall be appointed by the Steering Committee, with the advice and consent of the Senate, for staggered three-year terms. Each college or school shall have one representative; the Colleges of Education, Business, and Social Sciences shall have one additional representative; and the College of Arts and Sciences shall have four additional representatives. The Vice President for Academic Affairs, or his or her designee, and the Dean of Graduate Studies, or his or her designee, shall be ex-officio members; and membership shall include two graduate student representatives from different colleges or schools appointed for a one-year term by the President of Student Government. The Committee shall annually elect its chairperson from the faculty representatives. The Committee will make its recommendations to the Steering Committee, which will transmit the recommendations to the Senate for action. Every 7 years, Florida State University conducts an evaluation of its graduate programs. One aspect of this evaluation involves gathering feedback from law students. This meeting will provide a forum for law students to give their feedback to external graduate program reviewers.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Date/time of event: October 29, 2022 at 2:30 - 4:30 pm Amount requested: \$1,000 Location: FSU Law Green (on campus)

Pineappetit -Salmon Chicken Salad Mac n cheese (125 at \$8 a piece) (\$1,000)

Purpose of funds: Tailgating on the Green: FSU vs. Georgia Tech

We all know how much stress and pressure law school puts on a person every week. So, why not alleviate that stress with some chill vibes and happy times. Tailgating on the Green will provide the law school with a much-needed break from all the hustle and bustle that goes into the grind each day. With a cold beverage in hand and some delicious food on deck, sharing stories with some of your closest pals, nothing could be better. We will have games, prizes, and a bunch of fun for all to relax, revive, and release any built-up tension.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Organization: Student Veterans Law Symposium

Date/time of event: October 4, 2022 at 12:30 - 1:30 pm Amount requested: \$207.38 Location: Roberts Hall (on campus)

Zoe's Kitchen -Baked Falafel Pita Sandwich Tray (\$79.39) -Boxed Lunch assortment (\$127.99)

Purpose of funds: Battle of the Branches

This is an event where students can come, have lunch from Zoe's Kitchen, and learn about the culture of 5 of our military branches. This event serves both of SVLS's dual purposes. The student body can get to know our veterans- one of our missions is to integrate student veterans into civilian society. The second purpose is helping future JAGs understand the culture of each branch and being able to choose which branch culture fits them best so that they can make an informed decision for their future careers.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Organization: Trial Team of the College of Law

Date/time of event: October 27, 2022 at 10:00 am - 12:00 pm Amount requested: \$340.86 Location: Roberts Hall (on campus)

Panera -Bagels & Pastries with Coffee & Orange Juice (\$340.86)

Purpose of funds: Bagels and Brains

The Trial Team of the College of Law will host this tabling event to spread news about the spring try-outs. The Trial Team wants to encourage applicants for the spring and provide a space for interested applicants to ask questions about the spring try outs. This will also serve as a Q&A forum where interested students can ask about the demands, responsibilities, and benefits that come with being on the Trial Team. The Trial Team expects this informal meeting to garner interest into future Trial Team events and encourage current members to engage with non-Trial Team peers.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay

Organization: Transfer Student Organization

Date/time of event: October 4, 2022 12:30 - 1:30 pm Amount requested: \$280 Location: Roberts Hall (on campus)

Chick-fil-A -Large Hot Chick-fil-A Nuggets Tray (\$96) -Medium Hot Chick-fil-A Nuggets Tray (\$58) -Large Mac & Cheese Tray (\$67.50) -Large Chocolate Chunk Cookie and Chocolate Fudge Brownie Tray (\$30) -Gallon Lemonade (\$12) -Gallon Freshly Brewed Iced Tea Sweetened (\$6.25) -Gallon Sunjoy (\$10.25)

Purpose of funds: TSO General Meeting

This will be an introduction meeting of the Transfer Student Organization Board and upcoming events planned for the month of October. We will introduce each member of the board and the roles of each position. We will answer any questions the transfers might have about other organizations, classes, outlines, etc. We will have an open floor discussion about events that everyone is interested in and discuss what our members want to get out of their membership. We will also highlight important deadlines approaching as well as meetings other opportunities in different clubs at the law school.

	Samantha Seigile	Emma Wells	Cristen Chandler	Sarai Glaze	Cara Campbell	Leila Oberschall	Briana Bedoya	Keeley Smith	Allison Nelson
Vote	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay	Yay